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(kg-CH4/km) | (kg-cra) |TEFREK | (g-co2) | (kg-N20) (kg-N20) |fEAREL (kg-C02) | (kg-C02)
AR 4| BV v 25, 039 0.00001|  0.25039 21 5.3 0.000029|  0.726131 310 225. 1 230. 4
BB RAR I 12,071 0. 00001 0.12071 21 2.5 0. 000029 0. 350059 310 108.5 111.0
fﬁ%%ﬁﬁﬁ EJSe RGN 3|V v 91, 334 0.00001|  0.91334 21 19.2 0.000029| 2. 648686 310 821. 1 840. 3
R VIS 16, 740 0. 00001 0. 1674 21 3.5 0. 000029 0. 48546 310 150. 5 154.0
Bk 1TV 7,225 0.00001|  0.07225 21 1.5 0.000029|  0.209525 310 65. 0 66. 5
AP M R 1 {6 17, 679 0.000017| 0.300543 21 6.3 0. 000025 0. 441975 310 137.0 143.3
SRR 1TV 3, 785 0.000015| 0. 056775 21 1.2 0. 000026 0. 09841 310 30.5 31.7
/NI fEHERR AV N 6,203 0.000015 0.093045 21 2.0 0. 000026 0.161278 310 50. 0 52. 0
Rl & — 1 Do NS 967 0.000015| 0. 014505 21 0.3 0.000026|  0.025142 310 7.8 8.1
BB RAR I 8, 236 0. 00001 0. 08236 21 1.7 0. 000022 0.181192 310 56. 2 57.9
R Rtk 4BV v 27, 643 0.00001|  0.27643 21 5.8 0.000022|  0.608146 310 188.5 194. 3
bt o & — 4B v 12, 819 0.00001|  0.12819 21 2.7 0.000022|  0.282018 310 87. 4 90. 1
MO T A 5 — HHI ) 16, 735 0.00001|  0.16735 21 3.5 0. 000022 0. 36817 310 114.1 117.6
B RAR IS 10, 026 0.000011| 0.110286 21 2.3 0. 000022 0. 220572 310 68. 4 70. 7
EFHLI3 Vi 1AV 6, 948 0.000011| 0.076428 21 1.6 0.000022|  0.152856 310 47. 4 49. 0
1t E5 4 TR R 4|7y 28, 796 0.000011[ 0.316756 21 6.7 0. 000022 0. 633512 310 196. 4 203. 1
e S 4BV 30, 454 0.000011| 0.334994 21 7.0 0.000022|  0.669988 310 207.7 214.7
HHR 218V Y v 10, 934 0.000011| 0.120274 21 2.5 0.000022|  0.240548 310 74.6 77. 1
RPN L/EA MRt H— 2| 13, 027 0. 000015 0. 195405 21 4.1 0.000014  0.182378 310 56. 5 60. 6
i = 42 - 346, 661 - 3. 797431 - 79.7 = 8. 686046 = 2,692. 7 2,772. 4




